
Assemble units only as described in this 
guide. All fasteners must be tightened 
securely and checked regularly.  Failure to 
do so could cause instability and injury.

!
CAUTION

Porter Table
Tables

Hardware Included:
Tools Required:

•	 5mm Hex Drive

M8 x 45mm M8 x 25mm Leveler

Base Assembly

Assembling the Table Base

Step 1: 	Align the four holes in the Mounting Plate (#1) with the four tapped holes in the Column (#2). Insert the M8 x 45mm Screws 	
	 (#4) thru the Mounting Plate and thread into the Column. With a 5mm Hex Drive, tighten the screws to 15 pounds of force.

Step 2: 	Align the four (4) holes in the X-Base (#3) with the four tapped holes in the Column as shown. Insert the M8 x 25mm Screws 	
	 (#5) thru the X-Base and thread into the Column. With a 5mm Hex Drive, tighten the screws to 15 pounds of force.
		
Step 3: 	If not pre-installed, turn the threaded end of the Levelers (#6) or casters into the threaded inserts on the bottom side 
	 of the X-Base.

Step 4: 	Turn the Release Lever Adjustment Nut until there is a small amount of play in the handle lever. 
	 **Note: when attaching the handle to the table top, place such that the cabel does not kink.

instructions-portertable-2408141

Parts List
DescriptionQtySeq

Mounting Plate11
Column Assembly12
X-Base13
Screw M8 x 45mm FHCS44
Screw M8 x 25mm FHCS45
Levelers or Casters46
Screw, #12 x 1 PPH87
Screw, #8 x 3/4 PPH68
Mounting Clip, 5/16"29

SYM ECN DATE BY CHANGE
C NA RLI ADDED NOTES12/17/18

DOCUMENT # REVISION

SHEET
OF

1 
1 

ASY 1143
C

4

1

6

5

WARNING:  The column of this table contain high force pneumatic springs that is sized to lift work 
surface and accesories. The proper sizing, handling and assembly of this unit is a necessity to prevent 
damage to columns or serious injury.  Only adjust table if weight is within the minimum and maximum 
lift rating for this unit.
 
WARNING:  Do not operate release lever until table is completely assembled and in an upright position.
 
WARNING:  Because of size and weight of this frame and table, make sure you have enough help 
(minimum two people) to safely assemble and position unit as needed.
 
ASSEMBLY INSTRUCTIONS
 
1. Align the four holes in the Mounting Plate (#1) with the four tapped holes in the Column (#2). Insert 

the M8 x 45mm screws (#4) thru the Mounting Plate and thread into the Column. With a 5mm hex 
drive, tighten the screws to 15 Foot Pounds of force.

2. Align the four holes in the X-Base (#3) with the four tapped holes in the Column as shown. Insert the 
M8 x 25mm screws (#5) thru the X-Base and thread into the Column. With a 5mm hex drive, tighten 
the screws to 15 Foot Pounds of force.

3. If not pre-installed, turn the threaded end of the Levelers or Casters (#6) into the threaded inserts on 
the bottom side of the X-Base.

4. Turn the Release Lever Adjustment Nut until there is a small amount of play in the handle lever.
5. When attaching the handle to the table top, place such that the cable does not kink.

8

7

2
3

4

5

Release Lever Adjustment Nut

Bowden Cable

9



Assemble units only as described in this 
guide. All fasteners must be tightened 
securely and checked regularly.  Failure to 
do so could cause instability and injury.

!
CAUTION

2

Porter Table
Tables

Hardware Included:
Tools Required:

•	 #2 Phillips Head Screwdriver

#12 x 1” PH Screws #8 x 3/4” PH Screws

Worksurface Assembly

Assembling the Worksurface

Step 1: 	 Assemble table base. (Page 1 of Porter Table Assembly Guide)

Step 2: 	Place Table Top down on a clean and padded surface. Attach Base Assembly to table top using (8) #12 x 1” PH Screws.

Step 3: 	Fasten handle to Table Top using (4) #8 x 3/4” PH Screws. ** Verify cable isn’t kinked.

instructions-portertable-240814

Step 1:
Assemble base

Step 2:
Place table top upside down on a clean
padded surface. Attach leg plate (with
attached legs) to table using the #12 x
1" Screws. Fasten handle to top using
#8 x 34" PH screws (verify cable isnt
kinked).

I:\Drawings\SPECS\Assembly BOOK DWGS\Porter\PX26-C29-34C-ADJPN-4C FLAT.dwg, 8/13/2024 10:06:55 AM, DWG To PDF.pc3


